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A student attempted to confirm that the function f defined by f(z) = T

is continuous at = 2. In
which step, if any. does an error first appear?
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@ There is no error in the confirmation.




z? + 2z forz <1 ‘iM X (X‘—ab ‘L\\'}}? 2
3 forz=1 X2\ o .

f@) =K 2+2?+2 forl<z<3
0 forz =3

o . ‘
\-"M“\' -\ 2z +1 for z > 3] ““;3 0\*\—\ = ').(&\*\ s_]

Let f be the piecewise function defined above. V\?l:ich of the following statements is false?
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@ £ is continuous at z = 4. /
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Let f be the function given above. On which of the following intervals is f continuous?




2. Which of the following functions is not continuous on the interval —00 < < 00 ?
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Which of the following functions are continuous on the interval 0 < 2 < 2 ?
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The function f is defined above, where € is a constant. For what value of € is f continuous atz = 0 ?
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cer/2? +2+¢ for z>1

Let f be the function defined above, where € is a constant. For what value of ¢ is f continuous for all & ?
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5. @f(x)={2—sin:c forz <1

£
e 0.424 @ f(x) = {\; 1:2 — sin(x) x> 1:c /,/"» N

@ 0.409 &) e=04

@ There 15 no such value of €.
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z°+b° for z <2
s 1@ ={
bz +2b for =z > 2
Let f be the function defined above. where b is a constant. For what values of b, if any. is f continuous at

=272
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